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(MCQ’s)
Q1: Encircle the correct option: 1X10=10
1- Word “ worst” means :
(a) Danger (b) Bad (c) Superior (d) Against
2- Synonym of “ opponent” is :
(a)Friend (b) Player (c) Fellow (d) Enemy
3- Meaning of word * instant” is:
(a)Quick (b)Late (c) Long time (d)Delay
4- Word “ancient” means:
(a) Old (b) Current (c)New (d) None of above

5- Synonym of * whispered” is :

(a) Speak harshly (b)ySpeak loudly  (c)Speak quickly
6- “Pale” means
(a) Bright

7- The word “technology” means:

(o)Colorful (c)dull

(a) Computer (b) Mobile phone (c) Mechanics

8- Synonym of “trial” is:

(a)test (bymarks (c)tree
9-unlucky means:

(a) very happy (b)lucky (c)unhappy
10-Synonym of “filthy” is:

(a)Dirty (b)Clean (c)Pure

Q2: Choose correct form of verb according to sentence.

..................

(d)Speak softly

(d)Beautiful

(d) All of above

(d)game

(d)gifted

(d)Neat
1X5=05

the vegetables yesterday, so they should be still quite fresh.

(a)Buy (b)Bought (c)Buying (d)Was buy
2- Let me know as soonas Ray ..........................

(a) Arrive (b)Will arrive (o)Arrived (d) Arriving
3-We have already ..................... advantages of technology.

(a)See (b)Seen (c)Saw (d)Will seen




R if my parents don’t object.

(ayCome (byComing (c)Was came (d)Will come
5- [ was thinking about Jim, when all of suddenhe ..................... into the room.

(ayWalk (b)Walked (c)Walking (d)Was walking
Q3: Choose correct Parts of speech to complete the sentence. 1X10=10
1-Sheis .........o.o.. .o Active girl.

(a)the (b)a (c)an (d)or
2- My bookison ..................... table.

(a)a (b)the (c)an (d)in
B, are used in Kitchen.

(a)Knife (b)Knives (c)Knifes (d)The Knife
4-0Ur oo are beautiful.

(a)City (b)Pen (c)Class (d)Cities
5-Will you please give .......... a pen?

(aymy (b)me (c)You (dymine
6-You won’t get to the airport........................ you hurry up.

(a)lIf (b)And (c)Or (d)yUnless
T my calculations are correct, they owe us $2,000.

(a)And (b)For (c)Unless (a)If

8- It was Jerry!who was running wildly down the pitch towards the ball.© Wildly”

1S, o

(a)Adverb (b)Noun (c)Adjective (d)None of above
9-The match had_already started. “started" is .......................

(a)Adverb (byVerb (c)Noun (d)None of above
10-Mr Marsden raised the whistle ................ his mouth.

(a)ln (0Up (c)To (d)At

2 BLE g O} JRTETR NN 3o
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Q1:Translate into urdu.(Any two) 2x5= 10

Jamie saw his feet run up to the ball but somehow felt unable to control them. His mind and
body were disconnected from each other. He was taking the penalty but he had no idea what
he was actually going to do with it.

OR
Today, almost every one who can afford a mobile has got one. So, in order to continue
selling them, the manufacturers have to keep up coming up with new gizmos. In fact, they’ll
be so useful that, chances are, mobiles will become compulsory one day.

OR
He was lying there in the darkness behind the tea chests, in the dust and dirt. It was as if he’d
been there forever. He was filthy and pale and dried out and | thought that he was dead.
Q2: Read this passage carefully and answer any 10 questions. 2x10=20
Jamie knows he has to play well in trial match if he wants to get into the football team. But
then, everything seems to go horribly wrong.... Mardson handed Jamie the ball. Jamie
looked around. None of the others on his team has made a move to take the penalty, it had to
be him. Jamie knew it wasn’t just the keeper that he was up against now. It was every other
player on the pitch. Not even his own team mates wanted him to score. Why would they?
They all wanted to get into A team just as badly as he did. Why would they want him to steal
all the glory in the last minute?

Questions

1:Why did Jamie had to play well? 2:What does word “ trial” means?
3:What happened when Jamie decided to play?  4:Who handed the ball to Jamie ?
5:Where Jamie looked? 6:Who is against Jamie?

7:Why Jamie was afraid? 8:Singular of matches is.....

9:What does the idiom” steal the glory” means?  10:Suggest a suitable title for this Paragragh.
11:Write any 2 proper nouns from above lines?  12:What is Second form of verb? know, want

Q3: Do as directed. Any ten 10x1=10
1:Seema goes to School every day.  (Change into negative)

2:Stars are shinning in the Sky . (Change into interrogative)

3:She was making tea. . (Change into negative)

4:1 learn my lesson on time. . (Change into negative)

5:We are travelling by train. . (Change into interrogative)

6:1 will go to market tomorrow. (Change into negative)

7:He was violating traffic laws. (Change into interrogative)

8:They caught a thief. (Change into negative)

9:My grandmother tells us stories.  (Change into interrogative)
10:They have finished their work. (Change into interrogative)

11:1 drink milk every day. (Change into negative)
12:They watch Madani Channel daily. (Change into interrogative)
QS5: Write a story on moral “union is strength” OR (10)
Write an application for leave due to urgent piece of work.
Q6: Write an essay on any one of the following topics. (15)
My Father My self My School/ Jamia
Q7: Translate into English.  (Any ten ) (10)
LueAzad Gl 03 S a2 Ut Qe s gt 1
-ZQ{@U&J@;UK:S _u.?%{d/g’d/gl?’é:ﬂﬂ _‘Ld‘zéufd‘l;']ﬂ ?uf{Lﬂ/uJ?/fg: 5
-Lad‘/wzjl/d/ﬂ: 12 -(fu%/fyl’gl’g’u: 11 ?Zu:/lgdl:gﬂ‘ug: 10 -99/@2;480):9

3] St G 89 oIS
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What is the correct option?
(a)AUB={135}

What is the multiplicative inverse of -6/137?
(a)-6/13 (b)6/13

The Rational Number

(a)0

has no reciprocal.

(b)1

B={1234} «A={135}
(b)AUB={12:345} (c)AUB= {13}

?Kngufggur?um/dly
(d)AUB={1234}
WU 36113 24 Ui

(c)-13/6 (d) 3/6
AP PRI I
()2 (d) 3

1/10x1/10x1/10 can be written in exponential form as. ‘%Cf’tpté’uguﬁ‘fdu &}9/1/10X1/10X1/10-:4/',‘Jl/

(a)(1/10) (b)(1/10)° () (1/10y* () (1/10)°
a'Fa'= - Bwssam+a-:s / Jis
(a)a™"" (b)a™" (c)a™" (d)a™?
a"" can be written as. < C;’bl})f Jgfam-: 6/,2 Jiy
(a)2xa™ (b) 1xa"™ (c)1/a™ (d) 17a"
(-2)°=_____ — v nr(-2)° 14 s
(a)25 (b)-25 (c)32 (d) -32
3%4+2%+7°= ? 3%42%+7°= 2-:84
(a)5/7 (b)2 (c)1/2 () 7/5
Which of the following is not a perfect square? Vcruf?/d/dé'/ chuful-ﬂ/:’;dlr
(V16 +9 V16 +9 (©)V25+9 (V25 -9
=7 V2Y%=2\2%%-:10 4 J»
(2)0.15 1.5 (c)10.5 (d)0.015
The product of a number with itself is called itS—-C‘—t'M—lk,}b‘a/}U-‘ﬁ;‘V’%’}{/’,}li 1 lﬁzdlr
(a)Square root (b)Cube (c)Cube root (d) Square

3600 Sec = ?

@1 Km(Z#£1) (01 Hour (241)

- o A1,%3600-:124 Jir

(c)Im (}:’1) (d)Noneofthesle&chful




If2:5=x:20, thenx=_____ ? -_Kn/.!/.x?n2:5=x:2ofl-:13/le
()50 (b)2 (c) 172 (d) 8
The standard rate of sales tax in Pakistan is= ? - Jg’j/u’/.l,v qulﬁg-:14/fjdlr
(a)15% (b)16% (c)17% (d) 18%
An amount that we earn after selling a thing is called -_g,@quJ%»!L;i;f/gfﬁzﬁ"m- : 15/.2 Jlr
(a)Tang (b)ProfitC L (c)Markup IS4 (d) Ushr

Islam has fixed the rate of Zakat .

(a)2.5% (b)4%
Ushrpaidon__ products.
(a)2.5% (b)4%
Identify bi-nomials.
(a)x+y+z (b)2x>-3
X-x=___ 7
(a)x (b)x(x-1)

The solutionof 1+ 3x=7 is

(a)x=0 (b)yx=1

e & FUFEEL pu16 A Ui

(c)6% (d)10%
e bl sl #1744y

(c)6% (d)10%
_LZ)/&@J(?//?/&/M)—:IB/,}J’/

(c)-6l (d)All of these e 2

X2-x= 7 19l

(€)X (d)x-x*
Ul iw FE1+3x=7-120 4 JIr

(c)x=2 (d)x=3
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IfR={0,1,2,3},5={0,2,4 }then find RUS -7 P RUS FR=10,1,2,3},5=10,2,4} T 14 U
Simplify: -1/2+(-1/5)+(9/10). 1/2+(-1/5)+(9/10) -5 24 Uy

Arrange the rational numbers in descending order. 3/8,1/4,5/6 -Lj:;yf/"?/}/{‘/ ufd;)'gf/"- : 3/1/Jlr“
Separate terminating and non-terminating decimals. i)20/5 ii)4/9 -qfﬂﬂi,/wy’{”/émﬁ”w/{dw

Simplify: (p/9)*>+ (p/a) -Q:f/i?-ﬁ/'f;d’f

Find the square root of the following fraction: 144/196 _u:jd/)bjgg/(- : 6/,2 Jis
Komal saves 96000/-Rs in a year how much will she pay as Zakat?ﬁf;ﬁﬂvﬁﬁ?u;‘c‘-Ji/:{d;u%OOO del/:.ggf’f- : 7/,‘; Jlr‘
Convert into meter per second. 72 km/h VU*’)/J:,G' uf/';'{.’(}/"'.,’ : 8/,2 Jlr‘
Simplify. (x-2y) (x+2Y) JFT 94y
Solve the equation. 2X+3=5x+7 -foi&'}b—:lo/dl/
Resolve into factors. 10a%-200a’b LU Sz A D

The sum of three consecutive number is 45Find the numbersﬂu:)/(}"'/:‘;c‘:.45 J!‘{Kﬂﬁld’ydf- : 12/’,2 Jlr‘
Construct a parallelogram ABCD of mAB=5.4cm, mBC=2.4cm, mAC=66. flu:/lzCMUldJ'?‘ :{ : 13/’,2 Il
How many interior angles are present in a parallelogram? -t & s 4{.}0&»,61261}-516}'? Lf : 14/,’; Jir
Simplify: (2a-5b)> US54 )y
(Long Questions) | gus Ju ok
(3x10=30)-t £ 10LJly st S ¥ty 03 29
S .«:u/ 67 5eP bl s 2 Ul KoLl 05 F 1 12 iy

If U=set of Natural numbers, P=set of prime numbers, then find the complement of P

(Prove that) 1/4x(8/9-12/15)= (1/4x8/9)- (1/4x12/15) (q.’f:f,b‘)—:Z/:}Jl/
(L[ff)_u:)/()’”dwgf(‘yﬁg%73.96,}’/5@/.3{-:3/,‘;Jl/
The area of square is 73.96 cm” calculate the length of its side. (Evaluate)

_yzlG%ﬂfdﬁﬁu’"}/(}h”&)/'ogé/'_c‘,%)ﬁOOM:‘JL:L{:{-:4/,‘;Jlr
The price of a toy is Rs.500/- Find the sale price of the toy if GTS is16%
,u:)/r)l’”A-B+C Iv A=2(xX*+y°+2°),B=- X" +3y°-22°&C= x2—y2-322)7’—:5/',}dl/
IfA=2(x2+y2+zz),B=— x2+3y2—222,C= x2-y2-322then find A-B+C
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How many forms to expressing a set?

e e FSLS s 1 e

(a)2 (b)3 (c)a (d)5
IfA={l,m,n},B={l,m,n,0}, thenB-Ais - KﬁB-A;nA={I,m,n},B={I,m,n,o}f‘—:Z/f;Jlr’
(a){I} (b) {o} (c) {n} (d) {m}

The rational number p/q and —p/q are called Inverse of each other’s. - LMJ}Q’ Lg/»ﬁg-p/qn'p/q)w'g}bb 34 Jlr‘

(a) The additive inverse 3* (b)Multiplicative”  (c)Commutative Jol»

The additive inverse of 2/3 is?

(a)-2/3 (b)3/2 (c)1/3
2/5+(-4/5)=_____ 7

(a)2 (b)-2 (c)-1/2

Two parts of a decimal number separated by a .- bl L{..ﬁ'c

(a)Dot &5 (b)Comma bL.§ (c)CoIonu}?/

When we convert 0.75 into the rational number we get.-< t‘ngj’olp;u:!d"_

(a) 72 (b)1/3 ()%
How many types of decimal fractions:
(a)2 (b)3 (c)4
-2)"' = 2
(a)64 (b)-64 (c)128
a'xa'=?
(a)a"" (b)a"™" (c)a™
(-a)"is positive if nis
(a)prime /4 (b)even =& (c)odd b
The square of 31 is
(a)761 (b)861 (c)961

(d)None of theseuﬁ}‘ji/uﬁ’u!
Un g 3762/3:4 4 Iy

(d)-3/2
2/5+(-4/5)= 2:5 4 Jr
(d)-2/5

?/u,v‘?u?/ﬂﬁ’d/b‘i’:G/,}Ji/

(d)None of thesew}(jfc S

fdj,«,w“u:‘/,“d”tfo.75(7%>:7/dlr

(177
?uj&nrlﬁig&:/w'//-ﬁf.}d”’
(d) 5
2) =7 =9 s
(d)-128

a'xa'=? -:10/12Jl/
(d)None of these ¥ (=
-n—;’gﬂh’;«?(—a)n-:llﬂ}d’/
(d) whole f
_g}’z‘_&/g3l—:12/f;d’/

(d) 1061




5w Lu;/lﬁf(fﬁégu- : 13/,2 Jis

The comparison of two similar quantities is called ._wi

(a)Ratio;v»;“I (b)Proportion_,wl'; (c)Extreme uf/ (d) Main &,JV)
The standard rate of GTS in Pakistan is: S~ C}d/kxfd/ug)fdﬂ qutﬁ/‘t’ : 14/12Jlr
(a)15% (b)16% (c)17% (d) 18%
Zakat rate is . -4‘—@/&63}/]- : 15/12Jlr‘
(a)1.5% (b)2.5% (c)3.5% (d) 4.5%
If the sum of the measure of two angles is 90° is called _.-%LM_M?}?QOO;}‘{ Ku“jg Jugﬂ;»-: 16/12 Jis
(a) Complementary (b)Supplementary (c)Right angle (d) None of theseu.f";éfc; ufu'
Sum of three angles of a triangleis . -« ':‘n‘__,nf gugﬂ;déw;{- : 17/’,2 Jir‘
(a)150° (b)160° (c)170° (d) 180°
A Parallelogram with each of its angle 90° is . -45,(31&«'/_;459Ood)'JIKgﬁCMU'dﬂf’o{'-: 18/’,2 Jls
(a)CircIeo/b (b)Rectangle ny (c)Triangle A (d) Pentagon uj
The sum of interior angles of a quadrilateral is - ;ﬁ&ugﬂj&uméﬂi};:{-: 19/’,2 Jir‘
(a)90° (b)180° (c)270° (d) 360°

7 b 4 . ),
We can construct a triangle are given at least elements.-un’ié;_: el fﬂ{iu"ﬁ@é@%a@ﬂ 20/ J'r’

(a)2 (b)3 (c)4 (d)5
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If A={a,b,c,d},B={a,c,d}then find AUB. _‘J:]/(,J"”AUB Yy A= {a,b,c,d},B= {a,c,d}fl-:lﬂdlf

Draw the number line and represent the rational number on number line:3% -u“f/;lb'{,gfﬂf,/ﬁ Ve )ﬂd///ﬂu:(kufU/f/- : 2/,‘ le

Solve: 2/7+1/2-3/14 SIS 3 Ay
Express the rational numbers in terminating decimal. 127/20 _u:)/J”i uf,:zt‘if'(j??/;w'd/—:@:} Jlr
Simplify: (5°)°x(-5)x(a")” JF A s A
Find the value of x: 25=125 _u:]/(}”&{’.:éx-:@:}g)l/
Find the square root: 6400/9801 S B e A i
The area of a square shaped park is 12100 square meter.‘c‘_/’{'d/ 12 100}/5&62&&/3{-:8/&%
Find the length of its sides. _qf(}'féudawz.w
The price of ten pensis Rs.250/- Find the price of such 17 pens. _Q)/(}”ox:f'Ju;‘v:;‘.174|“a?¢;/250:4’j6/ui~:?10- : 9/,’;Jlr
Find x if X:5=6:15 Sy f b d Ix-10 £ U
What is formula of profit rate. -MU}”/W@}J&V- 1 l/jzdf}"

A student reads 30 pages of a book in 4 days. _c‘,b’”zal}‘ BOL%«U{LQ@?UM#&Q%L{- 12 4 Jlr‘

How many pages of same book will read in 40 days. _?g&ZQLé’ZM L,Cﬁfﬂuﬁ”umo

Convert into km/h: 42m/s. _Qfdiufﬁidk'}gl3/dl/
Verify: (7X+3)°=49X*+42X+9 -u/:/,e-:m/-f‘dlr
Factorize: mX°-m>X-mX _u:)/df“ : 15/,2Jl/

(Long Questions) | gu Jui ok
(3x10=30)-ut £ 10LJly pcotr Flztir03f 27

Verify any one: 1) 64m”-81=(8m+9) (8m-9), 2)( 6X-8)°=36X>-96X+64 —/f =t2L135 -1~/ v

After a whole year a business man saved Rs.95000/-  s#l<- 1595000 4 Lé_/val/{jd;Td/t:uK.ig- 24 Jl/

and has a stock of Rs.500000/- Find the Zakat due on him. -u:)/()l’”iii}g?b/vgﬂ:c‘, JJJ&«K%USOOOOO

Property worth=286400, Rate=5% Find property tex. -u:fpl"‘ J“Cd{,l{,- : 3/’,‘; Jlr‘
X-2 3 V.

Solve the equation. o1 = " _fof&'5V-:4/¥Jl/

Find the Sum 2a-3b, 4a+5b, 5a-8b _u:fg'—:S/:}Jl/




